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YEAR 12 - 3 UNIT REVISION - INTEGRATION

PAGE 1

Integrate the following using the substitution provided. (If
the substitution is not provided, use any suitable method.)
Leave your answer in the exact terms.

3
1. J.xxll—x2 dx, u=1-x%

0
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3. Show that 5 2 = 1 1 and hence evaluate
x“+2x x x+2

4

. -[xzf2x dx
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08 % .
4. [ dx, u=sinx
4 1+sinx
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log, 2 e
6. JJ = 4, u=e*
0 4+e
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=1-x%, —=—2x,
u B
xdx=—y-
2

8-343
I=
24
2
I=[-% ds , u=1-x°
V1-2x?
gf—-—3x2, xzdac——Eiﬁ
du 1 3
u
I=-% W=—§ u+c
I=-%J1-2% +¢
1 1 _x+2-«x
x x+2 x(x+2)
2
x(x +2)
_ T 2dx
" x(x+2)

1

= [log, x—log,(x +2)]
=log, 2

4
1

|

. du
u=sinx, —=cosx
dx
x=0,% = u=0,1
3 1
I=7cosxdx_J' du

1+sinx 1+u
0 0

I= [loge(1+ u)]; =log, 2

du
=e%, —=¢%, e*dx=d
u=e ™ e’, e u
x=0,log,2 = u=12




